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QUESTION 1

At the operating system level, what is thename of every Informix process? 

A. informix 

B. oninit 

C. cpuvp 

D. root 

Correct Answer: B 

 

QUESTION 2

What is the primary function of the Informix Connection Manager? 

A. To monitorand direct the connection requests from client applications to the appropriate server in the high availability
cluster. 

B. To monitor and maintain the connections between nodes in an Enterprise Replication environment. 

C. To monitor and govern SQL statements submitted by client applications. 

D. To monitor and report the connection status of the High Availability Data Replication (HDR) secondary server. 

Correct Answer: A 

 

QUESTION 3

Which of the following administrative processes can Informix handle automatically? 

A. Online Archival 

B. Storage Provisioning 

C. Database schema optimization 

D. Datare-distribution 

Correct Answer: B 

 

QUESTION 4

Which of the following is a key benefit of Informix? 

A. Database extensions can be added to supportnew business problem domains. 
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B. Chunks can be two gigabytes in size. 

C. Uptime of at most 80% can be achieved using continuous availability features. 

D. Databases can be administered by a local database administrator. 

Correct Answer: A 

 

QUESTION 5

TheXYZ Company\\'s failover recovery strategy requires a backup site; however, they do not have a constant or
uninterrupted communication link to that site. What type of high availability configuration should be used? 

A. Two Shared Disk Secondary (SDS) servers with hardware disk mirroring 

B. A High Availability Data Replication (HDR) secondary server running in SYNC mode 

C. Continuous Log Restore (CLR) with backup and recovery 

D. Enterprise Replication (ER) 

Correct Answer: C 

Latest P2090-068 Dumps P2090-068 VCE Dumps P2090-068 Study Guide

Powered by TCPDF (www.tcpdf.org)

Latest P2090-068 Dumps | P2090-068 VCE Dumps | P2090-068 Study Guide                                3 / 3

https://www.pass2lead.com/p2090-068.html
https://www.pass2lead.com/p2090-068.html
https://www.pass2lead.com/p2090-068.html
http://www.tcpdf.org
https://www.pass2lead.com/p2090-068.html
https://www.pass2lead.com/p2090-068.html
https://www.pass2lead.com/p2090-068.html

